Compléter 
16,587 M de vues
 = … vues


Compléter 
3,6 Mt = … t 
= … kg
 

Compléter 
48, 8064 M€ = … €





Compléter 
0,025 M d’abonnés
 = … abonnés
Compléter 
0,8 M d’abonnés
 = … abonnés

Compléter 
29,63 M de likes
 = … likes





Compléter 
6,23 M€
 = ….. €
Compléter 
6 253 M d’habitants
 = ….. habitants
Compléter 
63 M octets
 = ….. octets





Compléter 
128 k likes
 = ….. likes
Compléter 
358,702 k€
 = ….. €
Compléter 
26,8 k octets
 = ….. octets






Compléter 
18.4 k abonnés
 = ….. abonnés
Compléter 
6 254 700 octets
 = ….. k octets
Compléter 
352 000 octets
 = ….. k octets





Compléter 
7 021 000 de vues
 = ….. M vues
Compléter 
 45 035 000 €
 = 45,035 ……..

Compléter 
 580 700 €
 = 580,7 ……..






16,587 M de vues
 = 16,587 millions de vues
= 16 587 000 de vues


3,6 Mt 
= 3,6 millions de tonnes
= 3 600 000 t 
= 3 600 000 000 kg


48, 8064 M € 
= 48,8064 millions d’euros
= 48 806 400 €






45 035 000 €
 = 45,035 M d’euros

7 021 000 de vues
 = 7,021 M vues


580 700 €
 = 580,7 k d’euros


18.4 k abonnés
 = 18,4 mille abonnés
= 18 400 abonnés


352 000 octets
 = 352 k octets


6 254 700 octets
 = 6 254,7 k octets
128 k likes
 = 128 mille likes
= 128 000 likes

358,702 k€
 = 358,702 mille €
= 358 702 €

63 M octets
 = 63 millions d’octets 
= 63 000 000 octets


6 253 M d’habitants
 = 6 253 millions d’habitants
= 6 253 000 000 habitants

29,63 M de likes
 = 29,63 millions de likes
= 29 630 000 likes


6,23 M€
 = 6,23 millions d’euros 
= 6 230 000 €


0,025 M d’abonnés
 = 0,025 millions d’abonnés
= 25 000 abonnés

0,8 M d’abonnés
 = 0,8 millions d’abonnés
= 800 000 abonnés

26,8 k octets
 = 26,8 mille octets
= 26 800 octets



